Oradell Board of Education/ Personnel Committee Report Addendum April 10, 2019

The Superintendent, in consultation with the Personnel Committee, recommends the following:

I. RETIREMENTS/RESIGNATIONS/TERMINATIONS: NONE

II. NEW HIRES/APPOINTMENTS:

A. That the Board of Education approves the following individual be appointed as Substitute Teacher/Aide at the salaries listed for SY 2018-2019:

Last Name	First Name	Position		Position		Salary	Effective Date
		Substitute Teacher	Substitute Aide				
*Pfeifer	Kimberly	х	X	\$90.00 per day	5/1/2019		

^{*}Pending receipt of appropriate required documentation

- III. TRANSFERS/REASSIGNMENTS: NONE
- IV. LEAVE OF ABSENCE: NONE
- V. SALARY ADJUSTMENTS/REIMBURSEMENTS/PAYOUT OF DAYS/LONGEVITY:
 - A. [REVISE: 3/27/19] Approval of After School Professional Development Class It is hereby moved upon recommendation of the Superintendent that the Board approves the following staff members to be reimbursed for attendance at a "Linkit! Analysis" After School Professional Development Class on April 27, 2019 March 28, 2019:

	Last Name	First Name	Professional Development Class Hours	Compensation (as per OEA Agreement, Article XII, E.1)	Amount of Compensation	
1	Duthie	Scott	3:25 - 4:55 PM	\$30 per hour	\$45 (1.5 hours @ \$30)	
2	Kenyon	Roberta	3:25 - 4:55 PM	\$30 per hour	\$45 (1.5 hours @ \$30)	
3	Maklin	Lesley	3:25 - 4:55 PM	\$30 per hour	\$45 (1.5 hours @ \$30)	

B. Approval of Compensation for Field Trip - It is hereby moved upon recommendation of the Superintendent that the Board approves the following staff member to be compensated for Field Trip attendance at Prudential Center, Newark Concert Event for June 2019:

Last Name	First Name	Field Trip June 2019	Compensation (as per OEA Agreement, Article XII, G)	Amount of Compensation
Butcher	James	3:25 PM - 5:00 PM	\$45 per hour	\$71.25 (1 hour 35 minutes @ \$45)
Choka	Eileen	3:25 PM - 5:00 PM	\$45 per hour	\$71.25 (1 hour 35 minutes @ \$45)
Richardi	Carol	3:25 PM - 5:00 PM	\$45 per hour	\$71.25 (1 hour 35 minutes @ \$45)

VI. EMPLOYMENT STATUS CHANGES: NONE

VII. REVISIONS: NONE

VIII. SCHOOL ACTIVITIES/PROGRAMS:

A. [REVISE: 2/14/2019] Approval of Workshops/Conferences for SY 2018-2019 - It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following Workshops/Conferences for SY 2018-2019, in accordance with district policy #9250:

	Attendee	Position	Conference/ Workshop	Sponsoring Agency	Location	Date(s)	Registration	Travel
1	Gallagher, Eileen	Admin. Asst.	Administrative Assistant Program	NJASBO	Mt. Laurel, NJ	5/7/19	\$0.00 \$90.00	Mileage: \$58.47 Tolls: \$13.70
2	Santiago, Jacqueline	Admin. Asst.	Administrative Assistant Program	NJASBO	Mt. Laurel, NJ	5/7/19	\$0.00 \$90.00	Mileage: \$37.20 Tolls: \$10.40

B. [REVISE: 3/27/2019] Approval of Workshops/Conferences for SY 2018-2019 - It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following Workshops/Conferences for SY 2018-2019, in accordance with district policy #9250:

Attendee	Position	Conference/ Workshop	Sponsoring Agency	Location	Date(s)	Registration	Travel
Schoening, Nicole	BA	Purchasing	NJASBO	Rockaway, NJ	3/21/2019	\$0.00 \$90.00	Mileage: \$13.76

C. Approval of Workshops/Conferences for SY 2018-2019 - It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following Workshops/Conferences for SY 2018-2019, in accordance with district policy #9250:

	Attendee	Position	Conference/ Workshop	Sponsoring Agency	Location	Date(s)	Registration	Travel
1	Hawley, Michelle	Asst. Principal	Addressing Student & Staff Mental Health Issues	NJPSA/ FEA Legal One	New Providence, NJ	4/29/2019	\$0.00 (Part of NJ Leaders to Leaders Program)	\$0.00
2	Lipton, Jenna	Supervisor of Literacy & SS	Connected Action Roadmap (CAR)	NJ DOE	Parsippany, NJ	4/11/2019	\$0.00	Mileage: \$16.74
3	Mangol, Frederick	Librarian	Winners! Workshop	Judy Freeman's Workshops, LLC	Whippany, NJ	5/17/2019	\$209.00	\$0.00
4	Schoening, Nicole	BA	Preparing for the 18-19 Audit	NJASBO	Rockaway, NJ	4/11/2019	\$90.00	Mileage: 13.76

D. Approval of Staff for Title I After-School Remedial Math Program for SY 2018-2019 - It is hereby moved, upon recommendation of the Superintendent, that the Board approves the following staff for Session I, (April 11, 2019 - May 8, 2019) for Title I After-School Remedial Math Program, Grades 4-6, for SY 2018-2019, in an amount not to exceed \$1,822.50:

	Name	Position	Class per week	Tentative Number of Days in Session / 1 Hour	Tentative Number of Hours for Planning & Data Analysis / ½ Hour Per Session	Salary	Maximum Total To Be Paid
1	Malenda, Sheri	Title I Teacher	Mon-Thurs	12	6	\$45 per hour	18 @ \$45.00= \$810
2	Marron, Karen	Title I Teacher	Mon-Thurs	12	6	\$45 per hour	18 @ \$45.00= \$810
3	Black, Jeanne	Title I Teacher	Mon-Wed	1	.5	\$45 per hour	1.5 @ \$45.00= \$67.50
4	Terzano, Kristen	Title I Teacher	Mon-Wed	1	.5	\$45 per hour	1.5 @ \$45.00= \$67.50
5	Velardi, Adriana	Title I Teacher	Mon-Wed	1	.5	\$45 per hour	1.5 @ \$45.00= \$67.50

IX. INTERNS/TUTORS/VOLUNTEERS: NONE

X. SPECIAL ISSUES: NONE